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1. � α, β � x2 +
√

10x + 2 = 0 �����∣∣∣∣α4 + α2β2 + β4

α2 − β2

∣∣∣∣
���

2. a. � L1 : x + y = 0�� L1 ������� P (a, b) ���
� Q ����

b. � L2 : x + y = 1�� L2 ������� P (a, b) ���

� R ����

c. � Γ : y = x2 + 2�� L2 ���������� Γ ���

�������

3. � G ���� �ABC ����� G ��������

AB, AC ���� P, Q � P �= A, Q �= A���

AB

AP
+

AC

AQ

����

4. � f(x) = −x(x− 1)(x + 1)����� x ������ t ��

���� x(t)�Æ������� v(t) = dx(t)
dx
�� v = f(x)�

� v(t) = f(x(t))�

a. � x(0) > 1 �� lim
t→∞ x(t) =?

b. � 0 < x(0) < 1 �� lim
t→∞ x(t) =?

c. � −1 < x(0) < 0 �� lim
t→∞ x(t) =?

d. � x(0) < −1 �� lim
t→∞ x(t) =?

5. ���ABCD �������AD = 2π, AB = 2 �����

���	�����	

��������������

� A, B ���� D, C ����
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a. ����	�����
���

b. ����	����������������
��
��

6. ����� 3 ����2 ����	����
�����
���������� 5 ����������	����

a. �����
����������

b. �����
����������

c. 	���������� n �
����������
���
������Ǳ�

d. �
���� 5��
���� 8�����
� 5��
�����������

2



����������
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F1 = 1

F2 = 1

Fn+2 = Fn+1 + Fn (n = 1, 2, 3, · · · )
�������� n 	� F 2

n+1 + F 2
n = F2n+1�

�� B���������� a ������
� DE ��
�
� A�� AB ���� AEB �������
 E �����


�� C ���� B, C ��� A�������� A �����

 BC ���

A ED

C

B
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